Smart. Focused. Done Right.

ScottMadden, Inc. 2626 Glenwood Avenue Suite 480 Raleigh, NC 27608 919-781-4191

scottmadden.com

June 24, 2020 Invoice Number: 017599

Jared Deason Utilities, Inc. of Florida 200 Weathersfield Avenue Alamonte Springs, FL 32714

In Reference To: Professional services provided in May 2020 for project 369-007

UIF 2020 ROR Study

Summary of Charges

Direct Testimony \$ 17,500.00

Total Due \$ 17,500.00

If you have any questions regarding this invoice, please let me know. Please remit payment in U.S. funds to: Accounts Receivable, ScottMadden, Inc., 2626 Glenwood Avenue, Suite 480, Raleigh, NC 27608. Thank you for retaining ScottMadden.

Sincerely,

Dylan D'Ascendis

Director

ScottMadden, Inc. Tax ID: 56-1445505





Smart. Focused. Done Right.

ScottMadden, Inc. 2626 Glenwood Avenue Suite 480 Raleigh, NC 27608 919-781-4191 scottmadden.com

July 24, 2020 Invoice Number: 017738

PO Number: P91-2410-100207

Jared Deason Utilities, Inc. of Florida 200 Weathersfield Avenue Alamonte Springs, FL 32714

In Reference To: Professional services provided in June 2020 for project 369-007

UIF 2020 ROR Study

Professional Fees	Amount
	\$ 147.50
Total Fees and Expenses	\$ 147.50
Total Due	\$ 147.50

If you have any questions regarding this invoice, please let me know. Please remit payment in U.S. funds to: Accounts Receivable, ScottMadden, Inc., 2626 Glenwood Avenue, Suite 480, Raleigh, NC 27608. Thank you for retaining ScottMadden.

Sincerely,

Dylan D'Ascendis Director

ScottMadden, Inc. Tax ID: 56-1445505 Project

UIF 2020 ROR Study

In Reference to:

Professional services provided in June 2020 for project 369-007

Professional Fees		Current <u>Hours</u>	<u>Rate</u>	Current Amount	
Dylan D'Ascendis	6/8/2020	0.50	295.00	147.50	
Conference call.					
	Professional Fees	0.50		147.50	

Smart. Focused. Done Right.

ScottMadden, Inc. 2626 Glenwood Avenue Suite 480 Raleigh, NC 27608 919-781-4191 scottmadden.com

August 20, 2020 Invoice Number: 017856

PO Number: P91-2410-100462

Jared Deason Utilities, Inc. of Florida 200 Weathersfield Avenue Alamonte Springs, FL 32714

In Reference To: Professional services provided in July 2020 for project 369-007

UIF 2020 ROR Study

	Amount
Professional Fees	\$ 3,577.50
Total Fees and Expenses	\$ 3,577.50
Total Due	\$ 3,577.50

If you have any questions regarding this invoice, please let me know. Please remit payment in U.S. funds to: Accounts Receivable, ScottMadden, Inc., 2626 Glenwood Avenue, Suite 480, Raleigh, NC 27608. Thank you for retaining ScottMadden.

Sincerely,

Dylan D'Ascendis

Director

ScottMadden, Inc. Tax ID: 56-1445505 Project

UIF 2020 ROR Study

In Reference to:

Professional services provided in July 2020 for project 369-007

Professional Fees		Current <u>Hours</u>	<u>Rate</u>	Current <u>Amount</u>			
Dylan D'Ascendis	7/13/2020	0.50	295.00	147.50			
Conference call. Dylan D'Ascendis	7/29/2020	1.00	295.00	295.00			
Review WP. Matthew Howard	7/16/2020	0.50	270.00	135.00			
Workpapers Matthew K Remaker	7/14/2020	8.00	125.00	1,000.00			
Auditing and compiling citations Matthew K Remaker	7/15/2020	8.00	125.00	1,000.00			
Updating and auditing citations and w	orkpapers 7/16/2020	8.00	125.00	1,000.00			
Updating and auditing citations and workpapers							
F	Professional Fees	26.00		3,577.50			